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3. (30pts.) A3 kg block on a horizontal frictionless surface is attached to a horizontal
spring. Theblock is pulled a distance of 0.03m away from equilibrium and released from
rest. Itreaches the equilibrium point 0.145 seconds later.

a. (10pts.) Whatis the spring constant?

b. (10 pts.) What will be the speed of the block as it passes through the equilibrium
point?

c. (10 pts.) Now suppose that the block was initially pulled 0.07 m away instead.
(All the other numbers are unchanged.)How would this affect your answers to a
and b? You don’t hav e to do any calculations—just explain in words whether
your answers to a and b would be larger, smaller, or stay the same. Justify your
answer clearly.
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c. (10 pts.) Now suppose that the block was initially pulled 0.07 m away instead. 
How would this affect your answers to a and b? You don't have to do any 
calculations-just explain in words whether your answers to a and b would be 
larger, smaller, or stay the same. Justify your answer clearly. 
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